Final Exam; F4360; Fall, 2000; 12:00 Class



Name ______________________________

1.  
a.  In what way is accounting net income inconsistent with the fundamental principles of finance?

b.  Give an example of such an inconsistency (discussion is fine but if you want to use numbers that is fine as well).

c.  In what fundamental way does EVA “correct” the inconsistency between accounting net income and the principles of finance?

d.  Briefly discuss how EVA addresses the inconsistency in your example in part “b”.

 2.  Which ratios would you examine and what would you look for to determine whether a firm has excessive debt in its capital structure?

3.  Great Depression II Inc. is considering building a new warehouse in Idaho to distribute surplus Y2K survival equipment.  The warehouse would cost $350,000 to build (including all equipment, land, etc) and would have a 20 year life.  Net, after-tax cash flows are expected to equal $35,000 two and a half years from today.  After this initial inflow, net after-tax inflows are expected to grow by 4% per year through 19 and  a half years from today.  Great Depression II’s existing assets have a beta of 0.4 and the average beta of other survival equipment distributors is 0.2.  Great Depression expects the beta of the new warehouse to be even lower at –0.1.  The standard deviation of returns on the returns on the warehouse is expected to be 45% which is higher than the 39% standard deviation of returns on Great Depression II’s existing assets.  The return on T-bills is 6.2% and the market risk premium is 8.1%.  Should Great Depression II build the warehouse?

4.  Election Purgatory Inc. has assets with a current market value of $400,000.  The standard deviation of returns on these assets is 38% and the beta of these assets is 1.2.  Election is considering using $100,000 of surplus cash to repurchase some of its shares.  Note that the firm has outstanding debt which matures five years from today for $250,000.  The APR (assuming continuous compounding) on Treasury strips are as follows:  1-month:  6.2%; 1-year:  6.1%; 5-years: 5.5%; 20-years:  5.9%; 30-years:  5.4%.  What will be the value of Election’s stock if it undertakes the investment?

a.  What will be the standard deviation of returns on Election’s remaining assets after the firm pays out $100,000 of riskless cash to repurchase shares?

b.  What will be the value of Election’s stock after the repurchase?

5.  Assume your portfolio currently consists only of T-bills, shares in Bore Inc., and shares in Gush Inc.  Gush and Bore have just announced that they intend to merge and the new firm will be called BoreGush Inc.  Assume that after the merger, you continue to invest only in T-bills and in the newly formed firm.  Discuss and show graphically whether you are likely to be better off, worse off, or neither better off nor worse off due to the merger of these two firms.

6.  Assume that Perplixar Inc. has 7 stockholders as follows:  Jack owns 800,000 shares; Carol owns 650,000 shares; Greg owns 500,000 shares; Bill owns 350,000 shares; Kimberly owns 300,000 shares; Sarah owns 250,000 shares; and Chris owns 150,000 shares.  Perplixar’s shares have a current market value of $15 per share, however, Perplixar intends to repurchase 300,000 shares at $24 per share in order to get surplus cash out to the shareholders.  

a.  Assume Perplixar repurchases the shares via a tender offer.  If each shareholder acts in their own best interest, how will the wealth of Jack changes as a result of the repurchase?

b.  Assume that Perplixar repurchases the shares via transferable put rights by issuing one put right for every outstanding share.  Assume that Jack sells 500,000 of his puts and exercises the rest.  Show that the wealth of Jack is unchanged as a result of the repurchase.  

7.  Steadfast Inc.’s stock price has just fallen as the result of an announcement by Steadfast that it is suspending its regular quarterly dividend.  Based on our discussion in class, explain this reaction to the announcement.

8.  Anarchy Inc. has just announced that it intends to issue additional debt and use the proceeds to repurchase stock.  At the announcement, Anarchy’s stock price fell.  Given our discussion in class, explain this reaction.
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